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1322B - Present

$4eS$ 00 000DOOOOOODODOO

0000000000 $k$00000O0 $2°{k+1}$0000 ks OO $1s0 0000
$[27k, 27 {k+1}-1],[27{k+1}+27k,2~{k+2}-2]1$ 00000000 lower_ boundd OO0 00O

#include<bits/stdc++.h>
#define 11 long long
#define pii pair<int,int>
#define mp make pair
#define fi first
#define se second
#define pb push back
using namespace std;
const int N=4e5+10;

int alN!,num[N];

int main

int n;
scanf("%d",&n) ;

int i=1;i<=n;i++)scanf("%d",&[i]);
int ans=0;

int k=1;k<=2e7;k<<=1

11 tot=0,res=0;

int i=1;i<=n;i++)num[++tot|=alil%s(k<<l);
sort(num+1,num+l+tot);

int i=1;i<=tot;i++

int l=k-num[i],r=(k<<l)-num[i];
l<=r)res+=lower bound(num+1,num+i,r)-
lower bound(num+1,num+i,l);
l=(k<<l)+k-num[i], r=(k<<2)-1-num[i];
l<=r)res+=lower_bound(num+1,num+i,r)-
lower bound(num+1,num+i,1);

res&l)ans|=k;

printf("%sd\n",ans);
0;
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1322C - Instant Noodles

0000000000000000000000D00 $S$0$N(S)$0000000000007%f(S)$
O$NS)$S000000000000000 $S$7%f(S)$ 0 $\gcds$ [

doodooooooooooooboooboooogoooooooooooooobouooooooa
$\gcd$ DO OO

0000000 $\ged$ 0 $g$ 000 $USD DD $cis 00 $9$ 00000 $kitimes gk > 1)$ 0O

$k\mid f(U )$ 000000 $skinmidc j$ 000 $\ged$ 0000000000000 $j$0000 $S'$
OD000000 $$000000 $NSY$ 0000 $$00000 $$00000000000000
00 $k$ 0000000000000 $k$0000000 $kinmidf(SY)$00000000000 $k$ ]

O0000000000D0C0O0OOiota0OvectorddooooooooOO

#include<bits/stdc++.h>
#define 11 long long
#define pii pair<int,int>
#define mp make pair
#define fi first

#define se second

#define pb push back
using namespace std;
const int N=5e5+10;

1l c[NJ;
vector<int>g[N|,num;
int main
int t;
scanf("%d",&t) ;
t__
int n,m;

scanf ("%d%d",&n,&m) ;
int i=1;i<=n;i++)vector<int>().swap(gli]),scanf("%lld",&c([i]);
int i=1;i<=m;i++

int u,v;
scanf ("%d%d",&u,&v) ;
glvl].pb(u);

int i=1;i<=n;i++)sort(g(i].begin(),gl[i].end ;
vector<int>(n).swap(num);
iota(num.begin(),num.end(),1);
sort(num.begin(),num.end(),[&! (int a,int b glal<glbl;});
1l res=0;

int i=0;i<n;i++
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glnum[i]]|.empty ;
1l f=clnum[i]|];
i+1<n&&g num[i+1l ] |==g/num/i||)i++,f+=cinum[i]|;
lres)res=f; res= gcd(res,f);

printf("slLld\n",res);

0;

1322D - Reality Show

$n$ 00000000000 $i$000000 $sis000000 $c {li}sopopooooooonod
000000000000 0D000000000 $Li+1s0000000 $c{li+1}$00000ODO
gbobogoboodbobooobobooooobooobboobbooobboon

goobooobobodoobooobbooobbooobboobLbbooUbbooobboobnb o
0000000000000 000D0000000000000 $fllillkl$000D0000000O0O0O

O $Lis00 $1is 0 sks 00 D0ODOO0O0O0O $fLilkls O OO $fLi+1][k2]$ 00000000000
goboooobood

#include<bits/stdc++.h>
#define 11 long long
#define pii pair<int,int>
#define mp make pair
#define fi first
#define se second
#define pb push back
using namespace std;
const int N=5005;

const 1l inf=(1LL<<60);
int UIN!,s[N/,c[N/;

1L fIN/[N],res;

int main

int n,m;
scanf("%d%d",&n,&m) ;
int i=1:i<=n;i++)scanf("sd",&L[i]);
int i=1;i<=n;i++)scanf("%d",&s[1i]);
int i=1;i<=n+m;i++)scanf("%d",&ci1i]);
int i=1;i<=n+m;i++ int j=1;j<=n;j++)f[i][j]=-1inf;
int i=n;i;i--

int k=n;k;k--

fIU[i]] [k]=max(f[L[i]][k],f[L[i]][k-1]+c[L[i]]-s[i]);
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int j=l[1i],cnt=k; j<n+m&&cnt; j++,cnt>>=
flj+ cnt>>1]=max(f|j+ cnt>>1],f[jl[cnt]+(cnt>>1)*c[j+

int j=1[i];j<n+m;j++)f[j+ =max (f[j+ L3 -

int i=1;i<=n+m;i++)res=max(res,f[i ;
printf("sLld\n",res);

1

1325E - Ehab's REAL Number Theory Problem

$n$ 000000 $7$000 %@ 000000 DOODODODOODODODOOO

0000000000000 000DO0OO000OOoCO000oDooOoDooOoOOO$rsoo0dn %ais
000000000 $2000008%$00000000000000000O $p$0 $pqs00DOO0
00 $1p$ 000000 $p,q$ 0000000000 0O00ODODOOOODOOOOObLfSQODOOODODOO

0000000000000 000D0000000 $\sgrt{\max {a i}}$s 0000000000000
goo

#include<bits/stdc++.h>

#define 11 long long

#define pii pair<int,int>

#define mp make pair

#define fi first

#define se second

#define pb push back

using namespace std;

const int N=1e6+10;

int pri[N|,totl,alN|,head/N!,cnt=-1,num/N|,tot2,res=N,d/N|,vis[N/;
bool jud[N]/;

vector<int>g/N/;

struct Node{int nxt,to; jedges/N]|;

void addedge(int u,int v){edges|++cnt|=Node head|u,v},head ul=cnt;
void init

judi11=1;
int i=2;i<= Al

'jud[i|)pril++totl/=1i;
int j=1;j<=tot1&&pri[j|*i<= JJ++

judiprilj*i/=1;
i%sprilj == ;
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gqueue<int>q;
void bfs(int s

memset(d,0x3f,sizeof(d) );
memset(vis,0,sizeof(vis));
gueue<int>().swap(q);
g.push(s),d[s]|=0;

lq.empty

int u=q.front();q.pop();
int i=head/u!;~i;i=edges|/i|.nxt

int v=edges|(i].to;
vis|i ;
dlv|==0x3f3f3f3f)d[v|=d/ul+1l,vis/i/=vis|[i”~1]|=1,q.push(v);
res=min(res,d/ul+d[vi+1);

int main

int n;
memset (head, -1,sizeof (head));
scanf("%d",&n),init();

int i=1;i<=n;i++

scanf("%sd",&ali]);
int j=1;j<=totl;j++

alils(priljl*priljl)==0)alil/=priljl*prilj];
alilspriljl==0)glil.pb(priljl),alil/=prilj!,num|++tot2|=pril(j!;

alil!=1l)glil.pblalil),num[++tot2|=alil;
gli].empty puts("1"); ;
gli].size()<2)gl[i].pb ,hum|++tot2=1;

sort (num+1,num+l+tot2);
tot2=unique (num+1,num+1l+tot2)-num-1;
int i=1;i<=n;i++

gli =lower bound(num+1,num+Il+tot2,g/i -num;
gli =lower bound(num+1,num+l+tot2,gli -num;
addedge (gl i ,gli ,addedge(gl1i ,gli ;
int i=1;i<=tot2;i++ num/i<= bfs(i);

printf("%sd\n", res==N7?-1:res);

’
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1325F - Ehab's Last Theorem

OO000DO00O0 $n$000ooonoonooooon $\ceilsgrt{n}\rceil$ DO OO OOOODO
$\Iceil\sgrt{n}\rceil$ OO O DO DO OO

ds0000000 $(uv)s 000000000 $)\mathrm{dep}_u-\mathrm{dep} v|+1$ O O [QdfsO
oo UU ™
$\lceil\sgrt{n}\rceil$ O OO DO 200000

000000 $)\mathrm{dep} u-\mathrm{dep} v|+1\ge\lceilsqrt{n}\rceil$ (0O D OO0 DOODOOO
0000 $\ceilsgrt{n}\rceil-2$ OO O OO OO0O0O $\lceilsgrt{n}\rceil-1$ 00 00O O0O0DOOO0O
O S$\lceil\sqrt{n}\rceil$ OO DO DO OOdSOODOOOODOODOOO

#include<bits/stdc++.h>

#define 11 long long

#define pii pair<int,int>

#define mp make pair

#define fi first

#define se second

#define pb push back

using namespace std;

const int N=2e5+10;

queue<int>q;

int head[N|,cnt,st(N!,top,vis[N|,d/N!,fIN|,bloc,done=0,banned|[N]|;
struct Node{int nxt,to; edges | N*2]|;

void addedge(int u,int v){edges|++cnt|=Node head|ul,v},head ul=cnt;
void dfsl(int u

visiul/=1,st[++top|=u;
int isleaf=1;
int i=head|u]l;~i&&!done;i=edges|i].nxt

int v=edges|[i].to;
flu]l==v ;
lvis|[v])isleaf=0,f[v]=u,d[v]=dlul+1l,dfsl(v);
diul-d/vi+l>=bloc

printf("2\n%d\n",d[ul-d[v]+1);
int j=d[v];j<=d[u];j++)printf("sd ",st[j]);

puts(""),done=1;

isleaf)q.push(u);
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top--;
int main

int n,m;

memset (head, -1,sizeof (head) ) ;

scanf("%d%sd",&n,&m),bloc=ceil(sqrt(n))+0.1;
int i=1;i<=m;i++

int u,v;
scanf ("%d%d",&u,&v) ;
addedge(u,v),addedge(v,u);

d =1,dfsl g
Idone

printf("1\n");
Iq.empty()&&bloc

int u=q.front();q.pop();
'banned|u

printf("sd ",u),bloc--,banned|ul=1;
int i=head/u|;~i;i=edges|[i|.nxt

int v=edges|[i].to;
banned|v|=1;

flul)gq.push(flul);

assert(bloc==0);

puts ;

1326E - Bombs

00000 $n$ 00000 $p,0$ 000000 $180 $n$00 $p_is0000O0O0O0OODO %0000
0000000000000 000D00000D0O000 %$0000000 %$9_1,9_2\ldotsq _{i-1}$
gobogoood

0000000000000 00000C000D0O000DOo0O00ooD $x¢goooooo
$x+1,x+2\ldots,n$ DO OO0 O0O00DO0OO0O0O0OOO0O0OO $x$0 $p i¢000000O00ODOOODO
0000000000 s$000OoO00oDoop i000-0D0C000O0$0D00O00O00OS0S000O0O0
goo
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#include<bits/stdc++.h>
#define 11 long long
#define pii pair<int,int>
#define mp make pair
#define fi first

#define se second

#define pb push back
using namespace std;
const int N=3e5+10;

int pIN!,g/NJ,maxn[N<<2],1z[N<<2],pos|N];
void pushdown(int idx

int t=1z[idx];
lz[idx|=0,lz[idx<<l]+=t, lz|idx<<1|1]+=t;
maxn|idx<<l|+=t,maxn|idx<<1l|1]|+=t;

void add(int idx,int 1,int r,int a,int b,int x

a<=1&&b>=r) {1z idx|+=x,maxn[idx | +=x; ;
int mid=(1l+r)>>1;
pushdown (idx) ;
b<=mid)add(idx<<l,1,mid,a,b,x);
a>mid)add(idx<<1|1,mid+1,r,a,b,x);
add(idx<<1,1,mid,a,b,x),add(idx<<1|1,mid+1,r,a,b,x);
maxn|[idx|=max (maxn|[idx<<1l|,maxn[idx<<1l|1]);

int main

int n;

scanf("%d",&n);
int i=1;i<=n;i++)scanf("%d",&p[i]),pos(pli]]=1i;
int i=1;i<=n;i++)scanf("%d",&q[i]);

int res=n;

add(1,1,n,1,pos/nl,1);
int i=1;i<=n;i++

printf("sd ",res);
j== ;
add(1,1,n,1,qlil,-1);
maxn|1l|<=0)--res,add(1,1,n,1,pos/res]|,1);

puts mnin ;
0;
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1373F - Network Coverage

$a i$000 $i$00000O0%b i$000 $is0000O0%$0000OO0O0O $is$0 $i+1 $7%$n $0O
O000 $n$0 8180 0000000000000

gbobooobobooobooobbooobbuooobboobbboobbooobboOobnoO
OO0 %SO sooooooooooooon $s0o0o0o0on$2s0 $ns0 0000000000

00000000 %2380 $n$00000000%1s000000000000O000O00O0G000OG0
OOos1$000000000

#include<bits/stdc++.h>
#define 11 long long
#define pii pair<int,int>
#define mp make pair
#define fi first

#define se second

#define pb push back
using namespace std;
const int N=1e6+10;

11 read

11l x=0,f=1;char c=getchar();

c<'0'|]|c>'9" =='-"')f=-1;c=getchar();
c>="'0"'&&C<="9") {x=x*10+c-'0"';c=getchar();
x*f;

int n,alN],b[N!,cINI; //a 00 b OO0

bool judge(int k

int i=0;i<n;i++)c[i]=0;
c[O0]=k,c[1]=b[0O]-k; //c 0000
int i=1;i<n;i++

int t=max(0,alil-cl[i]);
blil<t false;
cl(i+1l)%nl+=b[i]-t;

true;
int main

int t=read();
t--

n=read( ) ;
int i=0;i<n;i++)alil=read();
int i=0;i<n;i++)b[il=read();
int 1=0,r=b[0], res=-1;
l<=r
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int mid=(1+r)>>1;
judge(mid) ) l=mid+1, res=mid;
r=mid-1;

res!=-1&&judge(res)&&c|0]>=al0] ) puts("YES");
puts("NO");

0;

1373E - Sum of Digits

$f(x) $0 $x$0 000000 $nk$O00 $x $00 $\sum\limits {i=0} ~kf(x+i)=n $[]

O000000000000000 $k\e9$00 00000 $1$000000000000O0O0O0%n$O
000000 $x99\Idots998y $0 0D 000D OO OODNO $x99\dots999y $00 00 00O $x,y$0 00
$1$000

#include<bits/stdc++.h>
#define 11 long long
#define pii pair<int,int>
#define mp make pair
#define fi first

#define se second

#define pb push back
using namespace std;

char s1[55],s2[55];

int main
int t;
scanf("%d",&t) ;
t--
int n,k, f=0;

scanf("%d%sd",&n,&K) ;
int 1=0;1i<9;i++
int 1=0;1<20;1++
int j=0;j<10;j++

int tmp=(i+1*9+j)*(k+1)+(1+k)*k/2;
j+k>=10)tmp-=9*(j+k-9);
j+k>=10&&1) tmp-=k+1;
tmp==n
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int cnt=0;
i)s2/cnt++]=1i+'0";
int ii=1;ii<=1;ii++

ii==1&&]j+k>=10)s2[cnt++/="'8";
s2/cnt++1="'9";

s2[cnt++]=j+'0',s2[cnt]="\0";
If||strlen(sl)>strlen(s2)||(strlen(sl)==strlen(s2)&&strcmp(sl,s2)>

strcpy(sl,s2);

f=1;

'f)printf("%sd\n",-1);
printf("%ss\n",sl);

1383D - Rearrange

O $n\timesm$0 00000000 $1$0 $n\timesm$0 00000000000 $1$0 $n\times m
$000000 $n\timesm$000000O

e JOODOOOODOOODOD

e JO0DOUOOD0ODOOODLDOUOOODLODOODODDOOODDLOOO

gobooobbooobooobbooobbuooobbooobLbbooobbooobboobnb o
gooogn

0000O00dQd s$osd sosod
$\mathtt{for}\;num\;\mathtt{in}\;n\times m\;..\;1 $

00000000 $num$00000O0O0O0O0O $num$0O000$Snums0000000O00ODOOO
gbobooobbooboobooobbooobbuooobooobbooobboonobooobobag
OO00$num $0 0000000000000 ODOO0ODO0O0O0OO

gbobogoboboodbbooobobooobooobboono

#include<bits/stdc++.h>
#define 11 long long
#define pii pair<int,int>
#define mp make pair
#define fi first
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#define se second

#define pb push back

using namespace std;

const int N= ;

int alNI[NJ,b[NI[NJ,r[Nl,cIN];

queue<pii=>q;
int main
int n,m;
scanf ("%d%d",&n,&m) ;
int i=0;i<n;i++ int j=0;j<m;j++

scanf("sd",& i/ [j]),riil=max(rlil,alil!j]),cljl=max(cljl,alill]j]);
sort(r,r+n),sort(c,c+m);
int x=0,y=0,i=n-1,j=m-1;

int num=n*m;num;num- -

riil==num)Xx++;
clj!==num)y++;
riil==num||cljl==num)b[x]|[yl=num;
blq.front().fi][q.front().sel=num,q.pop();
riil==num
int k=y-1;k;k--)q.push(mp(x,k));
i--;
Cc!j/==num
int k=x-1;k;k--)q.push(mp(k,y));
j--i

int i=1;i<=n;i++,puts
printf("sd ",b[i][j]);

int j=1;j<=m;j++

’

1388E - Uncle Bogdan and Projections

O¢$x$ 0000000000000 000ODO0O00DOODO0OU0ODOO0OO0 $x¢0ODOOOoOOoDOO
gobogobboodobooobboobobooobboobboogon

00ooboooobOooboobooboob0ooboobooDboob0o0ob0oobooboooOond
goboooboboooobooobbooobbuooobooobobooobbooobbooobobag
gbobooobboooboo

0000000000000 00000000000000D0OO0O000 Convex Hull TrickbtOO0O0O
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$\thetas OO O OO $x$ 00 DO0O0OO0$xy)$ 000000 $x-\frac y{tan(\theta)}$ 0O O OO $-
\frac 1{tan(\theta)}$ 000000 $y is0000%$x i$00000000O0DO0O0O0O0OO0OOOOOOOO

O000000000000000 $-\frac 1{tan(\theta )}$ 00000000000

#include<bits/stdc++.h>

#define fi first

#define se second

#define mp make pair

#define pb push back

#define pii pair<int,int>

using namespace std;

const int N=2005;

const double pi=acos(-1.0);

const double eps=1le-10;

const double inf=1e20;

int 1IN/, rINJ,y[N],totl,tot2,topl,top2;

int dcmp(double x X<-eps?-1l:x>eps;
vector<double>vl,v2;

double num[N*N*2|,res=inf,x1[N*2]|,x2[N*2];
struct line{int k,b; s[N*2],stl[N*2],st2[N*2;
double getInt(line 11,1line 12 12.b-11
void getMax(double x

int 11=1, rr=topl;double maxn;
ll<=rr

int mid=(1l+rr)>>1;
double pl=x1[mid-1|,pr=x1imid];

.b)*1.0/

x>=pl&&x<=pr) {maxn=stl|[mid|.k*x+stl mid].b;

x>pr)ll=mid+1;
rr=mid-1;

11=1,rr=top2;double minn;
ll<=rr

int mid=(1l+rr)>>1;
double pl=x2/mid-1],pr=x2/mid|;

x>=pl&&x<=pr) {minn=st2 mid| .k*x+st2[mid|.b;

x>pr)ll=mid+1;
rr=mid-1;

res=min(res,maxn-minn) ;
int read

int x=0,f=1;char c=getchar();

c<'0'|[|c>'9! c=='-")f=-1;c=getchar();
c>="0"'&ECc<="9" ) {x=x*10+c-"'0"';c=getchar();

x*f:

11.k-12.
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int main

int n=read();

double maxt=-inf,mint=inf;
bool f=true;
int i=1;i<=n;i++

llil=read(),r[il=read(),ylil=read();
maxt=max(maxt,1.0*r[i]),mint=min(mint,1.0*1[i]);
s|++tot2/=line{y[i],1[1i]};
s|++tot2/=line{y[i],riil};

int j=1;j<i;j++

ylil!=y[]

int a=i,b=j;f=false;

ylal<ylb])swap(a,b);
int u=ylal-ylbl,p=rlal-libl,g=llal-r[b];
int gl=abs( gcd(u,p)),g2=abs( gcd(u,q));
double angl=atan2(u/gl,p/gl);
double ang2=atan2(u/g2,q9/92);
vl.pb(angl),v2.pb(ang2);
num|++totl =angl,num/ ++totl | =ang2;

f){printf("%.10Lf\n",maxt-mint); ;
sort(num+1,num+l+totl),sort(vl.begin(),vl.end ,sort(v2.begin
sort(s+1,s+1+tot2, [&] (line 11,1line 12
11.k==12.k?11.b>12.b:11.k<12.k;});
int i=1;i<=tot2;i++

topl&&stl|topl| . .k==s[i].k ;
topl>=2&&dcmp (getInt(s|i|,stl topl])-x1[topl- <
stl/ ++topll=s/i];
topl>=2)x1|/topl-1/=getInt(stl|/topl/,stl|topl- ;
x1[topl-1]/=-inf;

x1l/topl|=inf;
sort(s+1,s+1+tot2, [&] (line 11,1line 12
11.k==12.k?11.b<12.b:11.k>12.k;});
int i=1;i<=tot2;i++

top2&&st2[top2| . k==s[i].k ;
top2>=2&&dcmp (getInt(s|i|,st2[top2])-x2[top2- <=
st2/++top2l=s/il;
top2>=2)x2[top2-1|=getInt(st2top2!,st2|top2- ;
x2[top2-1]=-inf;

x2 [ top2|=inf;
int i=1,j=0,k=0,cnt=0;i<=totl; i++

,Vv2.end

topl--;

top2--;
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k<v2.size()&&dcmp(v2[k]|-num/i])<=0)k++,cnt--;
Icnt)getMax(-1.0/tan(num|i ;
j<vl.size()&&dcmp(v1l[j|-num[i])<=0)j++,cnt++;

printf("%.10Lf\n", res);

’

1332E - Height All the Same

$n\timesm$ 000000 $(,j))$00 $a {i,j}¢s0 0000000000000 0ODO0OOODOOOOO
0000000000000 000Doo0o0oooooooo sa {i,jNinllris00000C000O0OO
gooodad

goboodoboooobbooooooobobooobbuooobbooboboooboa
gbobogoboodbobooobbooooboon
gobooobobooobooobobooobbooobbooob0buooUbobooobbooooobo
gooooobooooooo

ooy UUUUU a

e $n\tmesm$ 000000000000 DOOOO0OO/O0ODOO0OO0O0DOOO0OODOOOO0
$\mathrm{total}=(r-1+1)"~{nm}$ [
e 0 $ntimesm$ 00000000000 ODOOOOOOODOOODOOOpikmikeDOOOOOOOO

e 0 $r-1+1$ 00000000 $\frac{\mathrm{total}}2$

e D S$r-+1$0000000DODOODOSSOOOOO $[Lris OO0 $K\in(l,rlO
Koplusl\notin[l,rl$ (0000000000000 DO0 $k$0000 $a {i,j}$00 $1$000
000000000000 0000000D0b000 $ksOoooooooooOoo
$\frac{\mathrm{total}+1}{2}$

#include<bits/stdc++.h>
#define 11 long long
#define fi first
#define se second
#define mp make pair
#define pb push back
#define pii pair<int,int>
using namespace std;
const 11 mod= ;
1t n,m,1,r;

11 gpow(ll a,1l b

11 res=1;
b

b&1l) res=res*a%smod;

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:wangzai_milk:cf2100-2800
2020/08/05 oo1

15:24

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:wangzai_milk:cf2100-2800%E6%B3%9B%E5%81%9A1

a=a*a%mod, b>>=1;
res;
int main

scanf("slld%slld%slldslld",&n,&m, &L, &r) ;
11 tot=qpow(r-1+1,n*m);
n*m)&1L)printf("slld\n", tot);
r-1+1)&1)printf("slld\n", (tot+1)%mod*gpow(2,mod-2)%mod) ;
printf("sLld\n",tot*gpow(2,mod-2)%mod) ;

1
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